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QUESTION 1

A "Cradle to grave" ("beginning to end") call control is a functionality of which of the following? (Choose 2 answers). 

A. Registrar 

B. Stateless Proxy 

C. Stateful Proxy 

D. B2BUA 

E. Redirect Server 

Correct Answer: AD 

 

QUESTION 2

When comparing the network bandwidth and performance (jitter, packet loss, latency) between G.711 and 

6.729 codes, which one of the statements is true? 

A. G.729 and G.711 have the same bandwidth and network performance requirements 

B. G.729 requires less bandwidth than G.711, but G.711 requires better network performance 

C. G.729 requires less bandwidth than G.711, and there are no differences between G.711 and G.729 in there required
network performance 

D. G.729 requires less bandwidth than G.711, but G.729 requires better network performance 

Correct Answer: B 

 

QUESTION 3

Which of the following is SIP Server deployment modes used with a Framework 8 solution? Choose 3 answers 

A. Stand Alone Mode 

B. Application Server Mode 

C. Multimedia Mode 

D. Customer Side Proxy Mode 

E. CTI Mode 

Correct Answer: ABD 
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QUESTION 4

Which statements are correct? (Choose 2 answers) 

A. It is possible to deploy a combination of standard TDM PBX(s) and sip server(s). 

B. Genesys SIP server is capable of processing SIP signing and RTP/RTCP streams as well. 

C. Customers who have a legacy PBX deployed and want to deploy Genesys SIP Server have to dismantle their legacy
infrastructure. 

D. SIP Server supports the exchange of early media before a particular session is accepted. 

Correct Answer: BD 

 

QUESTION 5

What is the default timeout defined in the SIP specification after which SIP Server will put a DN not responding to
INVITE in Out of Service? 

A. 2 Seconds 

B. 4 Seconds 

C. 8 Seconds 

D. 16 Seconds 

E. 32 Seconds 

F. 64 Seconds 

Correct Answer: E 

 

QUESTION 6

Which of the following choices below contains all the messages that SIP is required to act on during the
request/response handshake? 

A. INVITE, 200 OK and ACK 

B. INVITE, 200 OK. ACK and 200 ACCEPTED 

C. INVITE. 200 OK 

D. INVITE, 200 OK and 200 ACCEPTED 

Correct Answer: A 

 

QUESTION 7
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Which of the following SIP Server features requires an MCU? (Choose 5 answers) 

A. 3 PCC conference - Single Step 

B. 3 PCC conference - Two Step 

C. Call Supervision 

D. Push video 

E. Emergency recording 

F. voicemail 

G. Email 

Correct Answer: ABDFG 

 

QUESTION 8

Sip Server 8.x introduced the overload control feature, which allows the specification of a value to limit the number of
interactions SIP Server handles. At what percentage of this value does SlP Server reject all traffic? 

A. 101% 

B. 120% 

C. 130% 

D. 150% 

Correct Answer: B 

 

QUESTION 9

When using the REFER method, where would you specify the party the call is being transferred to? 

A. Refer header URI 

B. To: header 

C. contact: header 

D. REFER To: header 

E. Is not specified in the REFER messages 

Correct Answer: A 

 

QUESTION 10
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Which of the following are SIP methods that can be used to pass DTMF tones? (Choose 3 answers) 

A. In-band method by encoding DTMF tone as regular RTP packets 

B. In-band method by encoding DTMF tone as in specific RTP packets (RFC 2833) 

C. Out-of-band method by encoding DTMF tone in SIP message (UPDATE method) 

D. Out-of-band method by encoding DTMF tone in SIP message (MESSAGE method) 

E. Out-of-band method by encoding DTMF tone in SIP message (INFO method) 

Correct Answer: BDE 

 

QUESTION 11

SIP Server starts successfully. However, its status on SCS is "Service Unavailable" and SIP Server distributes
EventLinkDisconnected to clients. Which of the following circumstances would be responsible for the status and
EventLinkDisconnected message? 

A. Stream Manager is not registered with SIP Server 

B. Media Gateway is not registered with SIP Server 

C. SIP Server fails to open the SIP port 

D. The network is down 

Correct Answer: B 

 

QUESTION 12

Which SIP Method is used by Active out of Service Detection to check a device for out of service status? 

A. INFOK 

B. CHECK 

C. MESSAGE 

D. OPTIONS 

E. SUBSCRIBE 

F. PUBLISH 

Correct Answer: D 

 

QUESTION 13

When using Genesys Media Server, which of the following are the two types of supported media interfaces? (Choose 2
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answers) 

A. ADSL 

B. NETANN 

C. MSML 

D. KVM / USB 

Correct Answer: BC 

 

QUESTION 14

In SIP Server, how would you link an emulated ACD Queue to an associated RP? 

A. RP Default DN set to Queue 

B. Queue object Association set to RP 

C. RP Annex Tab option identifying Queue 

D. Same name suffix, prefixed by Q_ and RP_ respectively 

Correct Answer: B 

 

QUESTION 15

Which protocol is SIP Server using when in communication with Softswitch? 

A. CTI protocol 

B. T-Lib 

C. SIP 

D. Proprietary protocol 

Correct Answer: C 
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